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Central Railway BSL Division.
Question paper for appointment on Compassionate ground in group ‘C’, GP 4200
category
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Date: 30.08.2023
Instructions/ fAdsm:

1) Do not write anything other than answer in answer sheet/ 39 qRa%#T # 39 & Famar

e e

2) Answer to be written in Hindi or English, unused answer sheet shouid be crossed. /
S 3= a1 Ut § e, Sy 39 9 B HTE B0

3) Any kind of electronic device like- smart watch, mobile, calculator or programmable
devices are prohibited. / ft t wre ¥ Tt Sy A4- = 7Y, AT, FAgee
T TR T4 Fr Iuwe e &

4) Question no | & Il of part | must be answered in English, other question can be -
written in English of in Hindi. / w1 ! F wy d=w ! @ Il = oo 3l # Ry 3w oy,

g wy et ar A F R srawa &

5) All questions are compulsory, there is no negative marking. / #ft wy wfard &, wrE
THITE A6 A81 21

8) All question of one part is to be answered at one place. / % 9T % g% T4 FT1 I TFH
SrIET AT aRTd

Part1

I. Answer the following questions

1. The rose smells sweet. Indicate noun and adjective. [2]

2. Write opposite word  a) Brittie  b) Friendly {2]

3. Give the plural form of a) Sheep b) Police 2]

4. Write synonyms of word “courageous”. [1]

5. Mane the senlence, “Ritu Sings sweelly w Simpis past tense. i1}

6. Give the superlative degree of adjective ‘costly’. 11

7. The stars shine us (on/ above/over). Chose the correct preposition. [1]

Write short notes on any two of the following  (2X5 Marks)
a) Vande Rharat Express,
b) Mission Chandrayan
¢) High speed rail project in India
d) Semiconductor and its application

lll. Solve the following questions.

a) Find the ratio 72% of X= 6% of Y ' [2)
b} Simplify 4.5-[8.2-{5.0(1.3-5)}] ' I21
¢) Find square root of ¥16. [2]
d) Vande Dharal is running at the speed of 50 mi's, find WS speed it RKivh. 2]



) 2

e) Aniket obfained 61, 88, 35, 67 and S0 marks in 5 subjects. What is his average
mark? (2

. Multiple choice questions (10X1 Marks)

1. SCADA stands for-

10.

a) Supervisory Control and Data Acquisition

b) Supervisory Central and Distribution Acquisition
¢} Supervisory Ceniral Advanced Data Acquisition
d) None of the above

. Neeraj Chopra is associated with-

a) Javelin throw

b) Chess

c) Archery

d) Shot put

Which country has successfully landed its space craft on south pole of the moon-
a) USA

b) Russia

¢) China

d) India

Integral coach factory is located at-

a) Chennai

b) Kapurthala

¢) Lucknow

d) Raebareli

How many divisions are there in Central Railways?
a)5

b) 6

c)3

d) 2

Who is the author of the book “Mein Kampf?
a) Mahatma Gandhi

b) Adolf Hitler

¢) Winston Churchill

d) Franklin D. Roosevelt

. Tadoba national park is located in the state of-

a) Maharashtra

b) Madhya pradesh

¢) Chhattishgarh

d) Odisha

Which city is called the oxford of the East?
a) Pune

b) Ranchi

c) Kolkata

d) Bengaluru

Who composed the Indian national song?
a) Rabindra Nath Tagore

b) Bankimchandra chatterji

¢) Javed Akhtar

d) Nandalal Bose

Which Part of Indian constitution deals with the Fundamental Rights.



a) Part-1
b} Part-li
¢) Part-IH
d) Part-IvV

Part il

Explain any two of the following. (2X5 Marks)
a) Power gquality improvement techniques
b) KirchihoiT's Laws

- c) First law of thermodynamics

d) Thevenin's theorem

Solve the following questions- (2X5 Marks)

a) Calculate numbaor of nolag of a three-phace induckon mator where synchronous
speed is 1500 RPM supply voltage and frequency are 230 V and 50 Hz
respectively.

b) An etectric iron is rated 1500W, 230V. What will be the the cost of efectric
energy when it is used for 2 hours, if unit rate of electricity is Rs.9.5?

Explain (4X2.5 Marks)
a) Light emitting diode
b) Energy conservation
¢) Brushless DC motor
d) Wind Energy

V. Answer the following questions- (10X1 Marks)

a) When length of a wire increases, its resistance will

b) Power factor of a pure inductive circuit is .
c) Ammeter is always connected in

d) and gates are universal gates |n electronics.

€} Unit of Capacily of batiery iS

f) diode is used as switch in eiectromc circuits.

g) Power rating of transformer is in

h}y PT is used to measure in High voltage systems.

1) Sl units of temperature is .

i} light vear is the unit of

. Solve any two of the following (2X5 Marks)

a) What is AND. gate? Draw its symbol, explain its working with 3 inputs and truth
table.

b) Convert binary number 111001, to equivalent-

i) Decimal number system.
i) Octal number system



c) 20 Find equivalent
resistance across A and B.

Vi. What is electrical substation? Write its working with drawing and also
explain terms like- transformer, CT, PT, circuit breaker and reiay. (10 Marks)
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